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least S0 percent compared with the growth rate achieved in 2009. The company’s
financial statements from 2008 to 2010 are shown below and on the following
. page. The income statements span a calendar year and balance sheets are dated
December 31. All figures are in millions of dollars.

Has ACC achieved its marketing objective?

a.

b. Restate ACC’s balance sheets in their managerial form. What does working
capital requirement (WCR) measure? Is it a long-term or a short-term
investment?

c. Examine the structures of invested capital and capital used in the managerial

: balance sheets prepared in the previous question (state each component as a
5 percentage of the rotal). What do you observe?
E d. Compare the 2008 balance sheet with the 2010 balance sheet. Are these bal-
=;§: ance sheets matched or unmatched?
e. Analyze ACC’s operational efficiency from 2008 to 2010. Calculate and com-
pare the following efficiency ratios for the three-year period. What can you
conclude?
1. WCR-to-sales ratio
2. Average collection period
3. Inventory turnover
4, Average payment period (use cost of goods sold)

f. Analyze ACC’s liquidity position from 2008 to 2010. Calculate and compare
the following liquidity ratios over the three-year period. What can you
conclude?

1. The liquidity ratio (net long-term financing to WCR)
2. The current ratio
3. The quick ratio

g g What general conclusion can you draw from your analysis?

Short-term debr ~ $80  $90 $ 135

200 230 290  Trade payables 170 180 220
160 170 300  Accrued expenses 40 45 50
30 30 35  Long-term debt 140 120 100
390 390 365  Owners’ equity 450 475 535
$880 $910 $1,040  Total liabilities &  $880 $910 $1,040

owners’ equity
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- < . Income Statements (in millions)
Net sales - o $1,200  $1,350  $1,600
Cost of goods sold 860 970
Selling, general, and administrative expenses 150 165
Depreciation expense 40 50
Earnings before interest and tax (EBIT) 150 165
Ner interest expense 20 20
Earnings before tax (EBT) 130 145
Income tax expense 40 45
Earnings after tax (EAT) S 20 § 100 B :
Dividends $ 75 § 75 $ 50
3.2 ORKING CAPITAL MANAGEMENT FOR A RETAILER.
The consolidated financial statements of Carrefour, the French retailer, for the
vears 2007 and 2008, are shown below and on the following page.
a. Calculate working capital requirement at year-ends 2007 and 2008. Interpret
vour results.
b.  Calculate the ratio of working capital requirement to sales. What is the effect
of faster growth on Carrefour’s liquidity position?
¢. Whar were Carrefour’s average collection periods, inventory turnover, and av-
erage payment periods (based on cost of sales) in 2007 and 2008 What can
you conclude about the effect of these parameters on the magnitude of Carre-
four’s working capital requirement? ]
d. Calculate Carrefour’s current ratios and quick ratios. What can you conclude
abour the reliability of these liquidity ratios for the case of retailers such as
Carrefour?
e  Income Statements (in millions) iy
2007 2008
Net sales ﬁ - €82,149  €86,967
Cost of goods sold 64,609 68,709
Selling, general, and administrative expenses 12,526 13,096
Depreciation, amortization, and provisions 1,723 1,816
Financial income, net of expenses 526 562
Net profit of affiliated companies 2,765 2,738
Income tax expense 807 743
Net income' €1,958 €1,995

! Excluding nonrecurring income, nonrecurring expenses, and discontinued operations.
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T . !Balance Sheers (in millions) R L
2007 2008 2007 2008
ent assets o Liabilities
and securities € 4,164 € 5,317 Short-term borrowings € 3,247 € 2,709
Trade receivables® 863 779 Accounts payable 17,077 17,276
tories 6,867 6.891  Accrued expenses 2,848 2,947 !
[ O¢her current assets’ 6,231 6,190 Other current liabilities* 4,866 4,800
4 Long-term borrowings 11,542 12,725
ong-term assets 33,224 32,232 Stockholders’ equity 11,770 10,952 I
Toral assets €51,349 €51,409  Total Liabilities and owners’ equity € 51,349 € 51,409

dy from the group’s franchisees.
sevables from suppliers for rebates and commercial incentives plus short-term consumer credit.
¥ short-term consumer credit refinancing.

EW PROBLEMS

1. Transactions.
Indicate the effects of the following transactions on net long-term financi ing (NLEF),
vor?emg capital requirement (WCR), net short-term financing (NSF), and net profit.

Use + to mdu_ate an increase, — to indicate a decrease. and 0 to mdu,at?no effect.
\ 4

; . A NET
= NLF w i INSF PROFIT

” e e R R AR S
Shares are Nsued for Labh - ;
~

Goods from inventory are sold for c.is-h

Gﬂods trom inventory are sold on account )

A fmed asset is sold for cash for less than book valu¢
AN

A fixed 2 asset is sold for cash for more than book \alue

Corporate income rax is p&ld b

Payment is made to trade Lred:tors

Cash is obtained through a short-ferm bank loan

Cash is obtained through a lor;a -term bank loan

Accounts receivable Zre ;ollegted

| A cash div idend is declared and paid . b \
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Merchandise i is p, fchased on account

Cash advanu: are made to emplovees

Mmorm interest in a hrm is a»quued for cash

Equ1pmen: Is acquired for cash




